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Time Allowed : 15 minutes $SC (Part- 1) 15 =3
Maximum Marks : 12 Session (2015-17), (2016 - 18) & (2017-19) 12  AF
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Note : Four possible choices A,B,C,D to each question are given Which cholce Is correct , fill that clrcle In front of that question
number, Use marker or pento fill the circles. Cutting or filling two oF more circles will result in zero mark in that question.
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The bending of Waves around obstacles or sharp edges, this phenomenon is called : (1)
Diffraction uy':fi (D) Interference u-;-,d'j—'i (C) Refraction J{/’J (B) Reflection &Suliy (A)
The loudness of a sound is most closely related to its : . q_tx{J:lf!}uLJ!’ufiiuJ e (2)
Frequency (/) (D) Wavelength ~ #% (O Period 15 (B) Amplitude 3™ (A)
* QOptical Fibres " work on the principle of N c;.t‘)?'f{dx‘lﬁ — ST (3)
Total Internal Reﬂectiunur’ﬂlf}?lq.f; (D)- Diffraction ﬂ/i (C) Refraction t}"‘(/-f (B) Reflection U'Qj (A)
Aonalhs c oy ko SIS @)
The Rays reflected at angle of —- in totally Internal Reflecting Prism
180° (@ 9° © 6° B ° (A
The Index of Refraction depend on : : g.rn.ggfﬂljl ¥ d"(}J.JTJf}I (5)
The Speed of Light ¢ 4r § (% (B) The Focal Length W IRON
The Object Distance ¢ Jdliﬁﬁ (D) The Image Distance (i L &
The Unit of e.m.f. is : Do K L HLALSH (6)
' D g © N @® N
1 KWh = —— = alaty £ ]
3:6] (D) 3.6M] (© 3.-6W (B) 3:6N (A) !
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Laws of Electromagnetic Induction and Electrolysis were presented by :
Simon Ohm (il (D) Newton ¢/ (C) Jeorge Coulomb «4.k (B) Michael Faraday AR (A) %
In CRO, the Potential of Grid is  : C et MMy Lcro. ! (9)
Neutral J¢ (D) Negative (& (C) Positive =2 (B) Zero (A)
George Bole invented T : oolgl & L gsle (10)
Geometry U7 (B) Arithmetic Algebra o pred) SChiagd i (A)
Mean Algebra A/:{lwﬁ (D) Boolean Algebra ;.‘_iuﬁ’.ﬂ (&)}
One Byte is equal to i R N (11)
4Bits U*4 (D) 6Bits U¥6 (C) 8Bits U*8 (B) 10 Bits V10 (A)
D e S e £ 235 gy KT (12)
During the Fission Reaction of 1Kg of Uranium - 235, amount of energy is released :
7-7x100] @) 6:7x107) © 5:7x1070] (B) 4-7x 100 (@)
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